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6.1.1 USuilysmsldnmvesdaudonlidanutiu
1 The little boy ate all the food at the party. He was very

a) nice

b) clever
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¢) interesting

d) greedy
uflantly  The little boy ate all the food at the party. He was very

a) nice

b) clever

¢) interesting

d) hungry

6.1.2 UFmlzenmnligndesmundnleinsel
1w We will go to see the football match at the national tomorrow.
ufludly  We are going to see the football match at the national tomorrow,

6.2 uuuNATeUIAnNUT S0 IHMTEIUMBIBINGY

6.2.1 Yiulgeiudenlidnnudaon
(U What is the main idea of this passage?

ay The girl is in the town

b) The worst day

¢) An accident in the city

d) The lost address
ufludly  What is the main idea of this passage?

a) The girl is in the town

b) A4 bad day

¢} An accident in the city

d) The lost address

6.22 Uimlyanmvesdiudenligadosnuwdn lnsal
1Y Why did the elderly couple look sad?

a) because they were afraid

b) because they thought of their daughter

¢) because the young woman looked like their daughter

d) because they would like to go to the countryside in Oxfordshire
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| .
ol Why did the elderly couple look sad?
a) because they were afraid.
b) because they were thinking of their daughter.
¢) because the young woman looked like their daughter.
d) because they would like to go to the countryside in Oxfordshire.
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